
1 

2 

NOTE: 
ASSEMBLE UNIT ON A SOFT SURFACE. 
ASSEMBLEZ L'UNITE SUR UNE SURF ACE MOLLE. 

2 

ASSEMBLY INSTRUCTIONS 
 VANITY STOOL 

LIST OF PARTS AND HARDWARE: 

No. Description Q'ty 
B '(.lj Flat washer qil/4"*16*1.5mm 8 
C (; Lock washer qi 1/4" 8 
D '"""'··,.,, Bolt qi l/4"*50mm 8 
E ,o.,.,.,½ Allen wrench 4mm 1 

1 ,:",,,,,,,·,:, Cushion 1 

2 !1,I Legs 4 
',, 

DO NOT TIGHTEN BOLTS UNTIL THE UNIT IS COMPLETELY ASSEMBLED. 
NE SERREZ PAS LES BOULONS JUSQU' A CE QUE L 'UNITE SOIT COMPLETEMENT ASSEMBLEE 



ASSEMBLY INSTRUCTIONS 
VANITY 

------- __,-

Adjustable -Stepl-
Leveler 

l(Vanity Left) 

LIST OF PARTS AND HARDWARE(VANITYMIRROR) 

No. Description 

H () Flat washer ©l/4"*16*1.5mm 
I ;,,t Lock washer (])1/4" 
K '"'' Bolt ©l/4"*40mm 
E n,,,,,, Allen wrench 4mm 

3 � Vanity Mirror 

4 
,·•···•'

····•'''' 
Support 

NOTE: 
ASSEMBLE UNIT ON A SOFT SURFACE. 
ASSEMBLEZ L'UNITE SUR UNE SURF ACE MOLLE. 

Q'ty 

12 

12 

12 

1 

1 

2 

DO NOT TIGHTEN BOLTS UNTIL THE UNIT IS COMPLETELY ASSEMBLED. 

VANITY MIRROR 

E� 

�I 
H' 
�)1 _-/,1-
I I ' ' 

I 

Step 2 

l(Vanity Right) 

3

LIST OF PARTS AND HARDW ARE(V ANITY L&R) 

No. Description Q'ty 

A lfJ Furniture tipping restraint 2 

B ';i; Flat washer ©5/16"*19*1.Smm 16 

C f'.) Lock washer (])5/16" 16 

D 
·1"',,,,,s Bolt ©5/16"*50mm 16 

E ,-, ..... , Allen wrench 4mm 1 

F t; Glass shelf support 4 

G � Bolt ©1/4"*15mm 4 

H "·>, Glass shelf 1 

1 gt�: VanityL&R 1 Set 

2 1/ Legs 
' '

NE SERREZ PAS LES BOULONS JUSQU' A CE QUE L 'UNITE SOIT COMPLETEMENT ASSEMBLEE Page 1/2 



ASSEMBLY INSTRUCTIONS 

\ 
' \\, , \ I\, / 

\\ I / :;::::: 
' ,��/ ----------

'H
/41 

� E Step 3 

Jewelry T ay------­
(Left side only) 

/ 

I 

I 

\ 
\ 

"'-­
'"' 

------�--............. / ' 

,�' ""'\ 

( 
' 

' \ 
\ 

' 
, I 
\ ' 

� 
I ,........___ ______ ,,./ 

Step 4 

Li ht touch switch 
(Left side only) 

VANITY 

VANITY MIRROR 

\ 
\ 

\ 
\ 

\ 
\ / 
y'..----, _____ 

/ '� 

/ 
' 

�! 
\ ' 

�- / � 1',"' ' 
Notlncluded ,......_ ___ _ 

Step 6 

Li ht touch switch 
(Right side only) 

, ... �[;.i Not Included 
I.•'! ' .''!' •• c,J,� 

Step 8 

Light touch switch 
(Right side only) 

Page 2/2 




	Blank Page

